Turner Level 1

Q 1) If a screw driver is to be used in a confined space where standard screw driver cannot be used, which screw
driver will you use? / & ¥F STSaR B! g1 HT RIF T Ya1T fbam ST § S8 AFE ¥ STEaR BT JaNT et
PR IDA g | MY 5T T SBAR HT YA B 2

A) Phillips screw driver / fOsferey R SIECN
B) Offset screw driver / e R ESIEEN

C) Robertson screw driver / AeeTT Ip gIRAX
D) Plane screw driver / - h gIRAX

Q 2) A multistart thread is to be cut on a lathe with a single point tool. Which angle of the tool is to be ground by
taking into consideration the thread helix angle? / Yl WEe ed I é‘c{ AT R ACRETE IS BT ST % |
IS & BT P10 & IR T fdaR B & 1T ¢ & g HI0T b It Sie 2

A) Side relief / 188 Rl

B) Front clearance / Wi fFm=
C) Side rake / A3 I

D) Side clearance / 9IS fo=g

Q 3) The standard taper which is of self holding type is .......... / A TR o Vet BIICST UbR BT 8Idl § ,

A) Morse taper / ORf TR
B) Brown and Sharpe taper/ T3 3R ITd TR
C) Jarno taper /

D) Pin taper / AR

Q 4) What is used to set a V threading tool square to the work axis? / V I cd W P ID iR K
FA & e T TERT BT g 2

A) Bevel edged try square / CERRSS] ETEF WM
B) Screw pitch gauge / ¥ CERIE

C) Centre gauge / e T

D) Dial gauge / B TS

Q 5) Ceramic material is composed of fine-grained, high purity .............. / WIS AeRgd Brga ‘BFT, I Yexd
ael. JFAAR |

A) Aluminium oxide / STGIH S
B) Silicon carbide / fifeier w1afss

C) Titanium carbide / feefaH H1afzs

D) Tantalum carbide / %ET“I'F[ W'TET‘S'

Q 6) What is angle A as shown in figure called? /= 3E H 3T T D101 A BT T Fed g

A

A) Side clearance angle / 9IS BN
B) Back rake angle / B I T

C) End cutting edge angle / S P TS WA
D) Front clearance angle / Tic e~ @

Q7 Wha%t is NOT true about negative rake angle of a cutting tool? | BT cd & FifeaYs Tra & IR H &
BRERER

A) It makes the tool sharp and pointed / g ¢¢l I <fleur 3R WT ERIGI % |

B) It increases strength of the cutting tool / dg Al ed Gl q\_rlq\'ﬁ deldl gl

C) Tt increases friction resulting in higher temperature / g YT Y deldl % fSrad aRumRasY auHE 3= 81
S |

D) It improves surface finish / g ddg @I ﬁmrs‘ Gl deldl % |



Q 8) Toughness of a cutting tool means ability to withstand ............ without failure / BT cd P e BT 3
fo T s ge. . ... ... B G B AT |

A) High temperature / 3o dTUHTT
B) Wear /

C) Impact forces / HTITd d¢T
D) Chemical reaction / IS ufafsear

Q9) In twist drill, as shown in figure below, part A is called ................ /ﬁ?%ﬂﬁ, ST AR o | feamg
TS, UTE A P H8d o
Y

A) Shank / Q&
B) Tang / T
C) Flank / Tcid
D) Neck / 7

Q 10) Which part of lathe supports the cutting tool and moves it to cut workpiece? / W BT B ITUIE BT cd

] TR A1 § 3R geh U bl e o Ty 8 gHIAT S 2

A) Saddle / ¥
B) Carriage /
C) Headstock /

D) Tailstock / SESICY
Q 11) The centre held in tailstock is called ................. /ARG H B A AR BT . ... ... .. PEd e |

A) Dead centre / TSI

B) Live centre / forg IR

C) Revolving centre / e IR
D) Steady centre / fest @7‘[\31?

Q12) Ifdrillin%g is to be done on a lathe, drill is held in ................. /afe A R fga frar ST g M fga &t . .
... OuHsde |

A) Headstock / m

B) Tailstock / TC (B

C) Compound rest / FHUNSS WK
D) Bed / 88

Q 13) While working on a lathe, what is a mandrel used for? / A4 TR BT HRd Y Arsd &1 YA {6 ferg
g

g

A) To hold externally machined part / e A=A UTe &t qa”)% RSchll

B) To hold internally machined part / 3ffafes A= urd o W XGAT

C) To hold both externally and internally machined parts / e 3R sfafve i urd St & m REchll

D) To hold neither externally machined nor internally machined parts / - dr S1esY, 7 i A==t ikl W
Gl

Q 14) Which accessory will be suitable if an irregular piece is to be turned on a lathe? /afe ifaftd 0 &1 dg
TR YA 8 O I I e Qe Sugad g 2

A) Driving plate / Tf{l%ﬁ’r[ we

B) Face plate /
C) Catch plate / FI @
D) Three jaw self-centering chuck / 3t SIf Yo YT &

Q 15) Which one of these operations does not require single-point cutting tool? / Tbdl WIgc P ed & fag
T AP 1 B Ul T8 & 2

A) Boring/a 2

B) Tapping / eft



C) Shaping / It
D) Planing / i

Q 16) The rate at which cutting edge of tool passes over the surface of workpiece is called .... / ST @RW e ol
BT TS THUY b Fdg WYAAR, . ......... FEAR |

A) Cutting speed / m CARIIR]
B) Machine speed / RIS
C) Feed / B1S

D) Depth of cut / dc I TIETI%

Q 17) The main part of the cutting tool which is gripped in tool holder is called ... / P EEECaRC e oy
AR HTEAR, ... FEAE |

A) Shank / R®
B) Face / Wy
C) Flank / /&
D) Body / SI181

Q 18) The sizes 4 to 12 are applicable to .............. /T4 12....... PRUTAEE |
A) Standard taper pin / Wes R i

B) Jarno taper /

C) Brown and Sharpe taper / T3 3R T TR
D) Morse taper / ORf TR

Q 19) Which statement is NOT true about taper turning by form tool method? / WTJ::I;'FT AYS YR cHTF IR
2RO E R

A) Broad nose tool is used in this method / 9 TYS T ST Al [<§Ica) Eip] g3l g

B) The tool is set on to work at full taper angle / ¢&T 2l @féﬂ? T H FHRICHAG |
C) The tool is fed straight into the work / ¢l B B T Y STAT ST % |

D) This method is used for short tapers only / U5 YS HId UE R &b forQ v i gl

Q 20) Which statement is NOT true about taper turning by tailstock offset method? / TP ATHIC HYS GRI
TR e SR A T IA TR 2

A) Long jobs can be tapered / A S ®I TR T o bl % I

B) Good surface finish can be obtained by automatic feed / JicHfed Bis I 3rsT Ude = ure fosar o
THAB |

C) External taper threads can be cut / TG TR IS BT off abell % I

D) Steep taper cuts can be made / WY TR Fe frar s aharg |

Q 21) Knurling operation has been done on two worpieces as shown below. / i1 = feramar mar % Afef
STIRTA & FHUN R forar T g |

A) (A) Correct impression (B) Incorrect impression / (A) BREL RG] (B) TTcid ELSNE
B) (A) Incorrect impression (B) Correct impression / (A) TTeld sﬁm (B) et

C) (A) Correct impression (B) Correct impression / (A) BEHELEE] (B)ﬂa SHRE

D) (A) Incorrect impression (B) Incorrect impression / (A) ITeTd ETQ'QF‘T (B) TTeld ETQ'QF‘T

Q 22) Figure below shows arrangement of three gears for thread cutting. It is ..... / YS BT P 1%111 BIEKIG
R ot e REE T R 13 F




A) Simple gear train / JTYRT] R 37[
B) Complex gear train / Sfed iR a:f
C) Compound gear train / ofgra iR aT‘f
D) Long gear train / SIURTIER a:f

Q 23) Which of these is NOT among the standard process chart symbols? / fgd DI AFS U A1 Rigad

TIE?

A) Operation / UdIeH
B) Inspection / fReror
C) Storage / HSRUT
D) Operator / YdTcIdh

Q 24) The sign given below indicates ................. /R maraEa. .. CAUGEERG] gl

A) Risk of fall / RS &7 WRT

B) Risk of toxic hazard / fava uerf &1 @aRT

C) Risk of electric shock / ﬁﬁfﬁﬂ SHTHTd pT WRT
D) Risk of explosion / faepie &1 adT

Q 25) Why is the top of a workbench made of wood? / 0 T BT HUWY "\’ﬁ'ﬁfm CAE RN % ?

A) It can absorb shocks / dg TTd P STINT B Jbal % [
B) It does not damage the finished components / dg RS U P ifdIRa 18! % I
C) Both of the above /

D) None of the above / G'qgaﬂ Y HE el
Q 26) Which of these is a direct measuring tool? /S:Taf DI SR Aol ed % ?

A) Try square / ‘g’l‘s‘ WM
B) Steel rule / 1A &
C) Straight edge / @i_c' ol
D) Ring gauge /

Q 27) The least count of metric micrometer is ............... / W TSI & YAGHIO ... giare
[

A)0.01 mm/0.01 fore
B) 0.05 mm /0.05 f&t
€) 0.10 mm /0.10 f&rft
D) 0.50 mm / 0.50 Toe

Q 28) While filing, clogging of teeth of file by chips takes place. This is called ....... /ST R FHA XG b aid H
AU WRE@gIgd.......... FEAG |

A) Loading / @If&T
B) Dressing / %ﬁm
C) Pinning / U

D) Jamming / e

Q29) A d%ouble cut file is used for filing on ................ | STA B BRABIYANT. .. ........ R BIed FxA &
faugarg |

A) Wood / A el
B) Leather / IHSI

C) Steel / S¥Id
D) Hard board /

Q 30) Which is NOT quality of a good coolant? / 37<5T URfidds T DI T 0T T8} 1T & ?

A) It has high heat absorption property / SO I SCAT a0 ur BIdT % |
B) It has good lubrication quality / T DT W Ior BaTe |



C) It is chemically active / g IS Y Afrg g |
D) It has high flash point / gﬂﬁ I T rse Eﬁ?ﬂ % |

Q 31) What is used on a lathe to give depth of cut? / TG TR TTERTS I el P (o o7 Ugad gia & ?

A) Compound slide / HUTSS WSS

B) Top slide / T10 W3S

C) By adjusting the tool / g¢l P TSORC TP |
D) Cross slide / T WIS

Q 32) The special gear of 127 teeth or 63 teeth may be used to cut metric threads in a lathe having British lead

screw. It is known as ... /W%@ﬁéﬁﬁ%%ﬂﬁ%%ﬁ 127 Tl 4T 63 Eidl arel Ty R
BTN TPATS 13 ... ... FBAG |

A) Idler gear / AIFSTR R

B) Change gear / o fIRR

C) Translating gear / mﬁ’q R
D) Compound gear / HuUdS R

Q 33) The front face of lathe chuck jaws are stepped. The purpose of these steps is to ..... / e & Sl BT Wi

TIH LEHAG I SARUBIIT . ......... G

A) Add appearance / UL SGMHT

B) Reduce weight / HR HH BT

C) Have increased gripping power /Glﬁef CHRICSER] qeldl ?

D) Hold larger diameter workpieces / a% N aTd IHY Bl U gdl % |

Q 34) In the sketch of a lathe given below, distance between centres is represented by / i e T o & emE
S R 2T S ) S, SRT U fpar man g |
A

A) A
B)B
C)C
D)D

Q 35) The swing diameter over bed of a lathe is ............. the height of the centre measured from the bed. / de P

VPSR TIAI I AT TR SIS S ............ BdIg |

A) Equal to / & TSR
B) Twice /

C) One-half / 31T

D) Thrice / ¥ T

Q 36) A cemented carbide cutting tool wears out faster at ............... /diHes ?ﬂaf%@’ HfeT e R
ot 3 forgar g |

A) Fast speeds IGERIIG]

B) Slow speeds / effelt T1fa

C) Medium speeds / HH T

D) Very fast speeds / dgd GERIG]

Q37) lder}tify the lathe accessory used to give extra support for a long slender piece. / 39 [ Qﬂ@w P Ugdld
P O ofa yaat O & forg sifafvad 9er1 33 3g v fear Siran g |

A) Steady rest / fesive
B) Tool post / g&1 e

C) Mandrel / &

D) Lathe dog / TG SIT

Q 38) Which of these operations cannot be done on a lathe? / %1 foparaft #f Q o1 It fpar dg W ol faran S
THATE 2



A) Punching / i
B) Step turning / Ry effr
C) Drilling / f$fefT

D) Facing /

Q 39) A lathe tool has front clearance angle of 8o and a back rake angle of 150. Its wedge angle will be /a_d?;?f
F1IhiC foer—g et 8 foiht ofR o Y& @ 15 f&ihi g 1 o aw @ . .. il

A) 67 degrees / 67 f&h
B) 75 degrees / 75 st
C) 82 degrees / 82 f&h
D) 33 degrees / 33 feuht

Q 40) A shaft rotating in a bushed bearing is good example of ........... /g0 CRIEUR| 'ﬂ'qef gl =M< . . . ... Dl
3BT IR |

A) Sliding fit / T3S fibe
B) Running fit / I fee
C) Push fit/ G fthe

D) Driving fit / ST3fd fthe

Q 41) According to Indian Standard specification, 100H6/g5 means that the ................. / R &
& STIR 100H6/gS BT Y §

A) Actual size is 100 mm / IRATIH T1ZS 100 A B |
B) Basic size is 100 mm / HcT gl 100 et § 1
C) Difference between actual size and basic size is 100 mm / IRAd®H qigsl G'ﬁT Hel gl & &g 3fdR 100 Tt

|
D) None of these / ST A DI T8l

Q 42) Several machine tools can be controlled by a central computer in .................. / @?\F‘T HHR GRI NIEC
miaga®...... # fdfa foear o 9w 8

A) NC (Numerical Control) machine tool / T Ht (Ij:ﬁﬁw Tb_@ﬁ) ERIE] <d

B) CNC (Computer Numerical Control) machine tool / BIREE] (PR GH RETY CT ) =i e

C) DNC (Direct Numerical Control) machine tool / StgA (GTCIW qﬁlﬁw m) o= cd

g-lng:rCNC (Central - Computer Numerical Control) machine tool / BIGINGE] (A< -HYR YH Revdl & g\l N)}
<

Q 43) With CNC programming, it is good practice to program a rapid motion in ............... axis at a time. / 1 uq

Ao U TEIRF ... 3 7 s AiwH Uiure & forg s Ufdeg § |

A)4
B)3
0)2
D)1

Q 44) Which of these lathes requires very high skill for operator? / 2 A H Y fpadg o forw dgd 3= IR
EISEEINEEA I GRS R

A) Centre lathe / IR TG

B) Capstan lathe / e A

C) Turret lathe / ?R_C' da

D) All these require equally high skill / g It & T =0 T PN B SR Bl § |

Q 45)%Which of these lathes has the lowest degree of automation? /mﬁma?ﬁ 3ffeHeE ot {89 YdH
é dig 2

A) Centre lathe / IR g

B) Capstan lathe / e de

C) Turret lathe / R dg

D) All these have same level of automation / 371 G4 7 3fTCIARM &1 ddd THH BT © |

Q 46) Turret head on a turret lathe is generally mounted on ............. / @‘c’ SRRy @_C' TSHIUR: ... .. W aa?r
g



A) Slide / T3S
B) Saddle / ¥
C) Ram /

D) None of the above / EY ?ﬁ'sp Tl

Q 47) Cyanide method is a way of ...........ccocevenene. heat treatment process. / 9IS S AYS ... Bic
Selie TR 1 Th aAH1 3 |

A) Normalizing /mﬁrm

B) Tempering /

C) Case hardening / 9 E'I_GFﬁTT
D) Annealing / Q_“m%‘l"'f

Q 48) Inspection, during manufacturing, assures that ........... / Tmtor & T e ﬁﬁfi\ﬁ‘f FRatgfd. ... ..

A) Process is under control / TR e % |
B) Products meet specifications / ST WRIhHRH &I ORI Pl g

C) Quality problems are solved / T[UIddl JHTT G RS % |
D) Workers are motivated / HIIRI &1 AR oo sar % I

Q 49) Which part of a ball bearing prevents the balls from bumping into each other? / ST SR BT S I1 e
I BT U GIR I THIA J Ahell § 2

A) Inner race / g:l?w

B) Outer race / 33X kL3

C) Both inner race and outer race / SI% 3R 3R =AE]|
D) Cage / Cax|

Q 50) Loads applied parallel to the axis of the bearing are called ............ / SR & 318f o FHHIR Tgad 4R
Bl FEA G |

A) Thrust loads / T AS

B) Axial loads / UGt3@ @S

C) Concentric loads / W@H’T e
D) Central loads / @i’a s

Q 51) Which statement is NOT true about four-jaw chuck used on lathe? / A AP T FYT AT R Ugad
B A IR S 9% & IR H T 9 T8l @ 2

A) Each jaw can be move independent of other jaws / G Gﬁ@% ST ¥ WA 99 Gl % |
B) It is not so heavily constructed as 3-jaw chuck / 3@ 3 - Sl 9 &I d¥g HRI ATg! a1 STl % |
C) Its jaws are reversible / g SII

D) Job can be held in it to run true or eccentric/mﬁgmm%m%méﬂﬁmm% |

Q 52) In figures A and B shown below ................ /= 3T A 3R B ﬁﬁ'@'l’qTTl'qT%
;lfl___ =1,
e T W
T E T
=1 - =
A E
A) Tool A is chaser / €T A IR % |
B) Tool B is chaser / ¢4 B IRE |

C) Both tools A and B are chasers / g¢T A R BEHI TR G |
D) Neither tool A nor tool B is a chaser / T ¢TA , 1 ¢l B IRE |

Q 53) Identify part of a lathe which is shown in figure given below. /= femm U e A g & UTE DI
UgaM |

A) Carriage / Cars|

B) Saddle / ¥

C)Bed /98

D) Cross slide / EIGESIES]

Q 54) Lathe carriers are used to drive the work during turning between centres. They are otherwise called .... / [



mmsqmﬂﬁ$aﬂ?®?ﬁ%aﬁaﬁwﬁﬁaﬂﬁ$%ﬂm% ITHATFUY . ...
|

A) Lathe dogs / g ST

B) Lathe legs/aEaTT

C) Lathe points / [ Wrsc
D) Lathe clamps / A< Fa

Q 55) Vernier bevel protractor can measure angles to an accuracy of ...... / IR SadWeTeR . ... Gl
ST I HIT B A GHAT S |

A) 0.5 minutes / 0.5 e
B) 1.0 minute / 1.0 fiFe

C) 2.0 minutes / 2.0 e
D) 5.0 minutes / 5.0 e

Q 56) What is the type of knurl shown in figure given below? /e 3 ¥ for UepR 1 At faaman % ?

A) Straight / T
B) Inclined / 3THd
C) Diamond / _GﬁTf
D) Coarse / e

Q 57) Ceramic belongs to which group of tool material? / AR ford UHR & cd TR ¥ Tefa § 2

A) Ferrous tool material / e cd oefaa

B) Non-ferrous tool material / 3T cd oehad
C) Non-metallic tool material / YT ¢l aefad
D) None of the above / 379}[ I Eﬁé :rs“r

Q 58) If in a belt drive, the sense of rotation of both the pulleys is the same, the drive is / gfe dec glkd gl

gferat &1 gui fexn T g Y S18d ©

A) Open belt drive / 307 9T 313

B) Cross belt drive / B1Y S SIEE

C) Open or cross belt drive / 3T T 1Y dee gled

D) Neither open nor cross belt drive / = Gfl'EF[, T PIY dce ISIEL

Q 59) An example of use of stepped pulley drive is in .............. | KT g,?ﬂ [SIEE S YN HIIAIE0 .. ... ...
EEl

A) Lathe / @G

B) Milling machine / e o=

C) Shaper / YR

D) Planer / TR

Q 60) The size of a gear is usually specified by .................. /A TR G AR Bl . ... ... 3 fafafdy

FAG |

A) Pressure angle / IR T

B) Circular pitch / ﬂw U

C) Diametrical pitch / ST g

D) PCD / G 1 St

Q 61) Gears having their teeth element parallel to the rotating shafts are called ..... / R forges gid ges '?Iuﬁ
Y & JAMFR 8ld 8, Ped o

A) Worm gear / g iR

B) Spur gear / ¥R iR

C) Helical gear / gfdema iR
D) Bevel gear / ad iR




Q 62) The part of the reamer which allows the chips to pass and admit the coolant to the cutting edge is called

.......... /PR &1 98 UTE S 0 B T[OoRA <l & 3R BT T § Feie &l oH &l &

A) Tang / T
B) Land / &S
C) Neck / A&

D) Flute / UeJC
Q 63) A follower steady consists of ................. /PlaR RS d. .. ... grar % |

A) One pad / U S
B) Two pads /e Ts
C) Three pads / GBS
D) Four pads / dR

Q 64) The included angle of lathe live centre nose is ................. /g NIEE] T A BT gaq%rs' a1 P
gl

A) 30 degrees / 30 f&h
B) 45 degrees / 45 et
C) 60 degrees / 60 feit
D) 90 degrees / 90 T&Ut

Q 65) What arrangements should be made to extinguish the fire in the workshop? \ TS & ST a;,‘-aﬁ & fog
forget srawiT TE! g u?

A) Fire fighting machine\ KIPNEERERIE]

B) Buckets full of water \ U W1 afeeat
C) Buckets full of sand \¥d 9 W3t rfeeat
D) All of these\ T Tt

Q 66) The box which contains the usual medicine, cotton, bandage etc. is called box.\ I8 FarTT forad
YT CaT%s,Usl S |AT ST IY _ JaRIT Hel odl g |

A) Mould\HITS

B) Coolant\¥ftdcie

C) First Aid\ U1 Faferem
D) Tool\3NSTR

Q 67) Identify the given tool. \fST 7T 3SR &} U8 &Y

- m—
DENT POINT «STRUGKT POINT Ty

A) File\ Yl

B) Chisel\ &

C) Micrometer \W’Fﬂa
D) Scriber\ GhIEER

Q 68) The distance between adjacent teeth of a hacksaw blade is known as the of the blade.\ %EHT Y
& e gidl & Il &1 gl B IS DI & =Y § SHT A 5|

A) pitch\T0d

B) frame\DFH

C) wing nut\fdvT 7
D) Tang\ Gl

Q 69) Which of the following material is used to make bench vice?\ CE| GIERSI FTH & ]%TQ fFafaRea & O fg
Tt BT TRINT {3 oiTaT 82

A) Copper\ Tl

B) Aluminium\ Q(_'ﬂ"l:ﬂﬁ'qﬂ



C) Cast iron\ gc1dl qrer
D) Zinc\fSie

Q 70) Name the device shown in the picture. \ i3 & SR 7T IUBRUN BT A1 I

A) Micrometer \ IR

B) Vernier Caliper \gf R SR

C) Dial Test indicator \ ST X sPHed
D) None of these \379}[. g ﬁ% EEl

Q 71) Which one of the following is a precision measuring instrument?\ BEINICE R ARl Th J&HdT HIUT
U G

A) Vernier caliper\ iR FfomR

B) Micrometer \

C) Vernier bevel protractor\ IR dad Medex
D) All of these \ & g4t

Q 72) How many millimeters are there in one centimeter? \ Th Yeier o fran fireifier 8l 82

Al

B) 10
C) 100
D) 0.1

Q 73) Vernier bevel protractor is used to measure \ GfFRER dad dieder &1 Uai 99 &
for o s &)

A) angles\ P07
B) length\
C) depth\TTgX '5;

D) weight\HIR
Q 74) Which country developed 5 S system?\ g <=1 55 YUl &1 faeRid far ut 2

A) India\ HRd
B) China\ T
C) Japan\ SITUTH
D) Nepal\ Jura

Q 75) The maintenance work carried out on an equipment in order to avoid its breakdown or malfunction is called

P SURRUN & e U1 TR T4 & e fu g 3rqRe B Bt EHIRSII]

A) automatic maintenance\mﬁaef@&‘m
B) negative maintenance\UTHD &I
C) break down maintenance\BIIHT STIRET
D) preventive maintenance\[AdR® STIEUT

Q 76) Which one of the following is a type of drilling machine?\ LN R ARl 3 NUERIB AR
TPR 82

A) Pillar drilling machine\ fOeR fgfeim a=iq

B) Column drilling machine\ Fiaq %ﬁf"[ BRG]
C) Radial drilling machine\Rf&ad fSTeiT AR
D) All of these\ T

Q 77) Which of the following operation is carried out to make the hole dimensionally more accurate\FIE T 4

B 1 U=ITeH g ol 3ifiie e 9 & foru fovar wimar g2

A) Reaming\'\ﬁﬁ"T
B) Tapping\



C) Boring\@lﬁ"T
D) None of these\ B m ol

Q 78) What is the value of point angle for general purpose work of a twist drill?\ Tdh @E E\T‘T & ARG Yo
B & 1Y feig B0 o7 /I 1 el 22

A) 45°

B) 100°
C) 118°
D) 180°

Q 79) Which of the following is a part of twist drill?\ F@fRad & & ®1F It fiwe fea &1 va R g2

A) Body\ S8t

B) Shank\ RI&

C) Both body and shank\ et 3R Yp gl
D) None of these\ ERUE ﬁ'ﬁn e

Q 80) How many cutting edges are there in single point cutting tool?\ Ri7Ta drge ®fcT ed ¥ fpa wicT o
Fdg?

A)l
B)2
0)3
D)4

Q 81) Electrical discharge machining method can be used for the machining of . \s?ﬂ‘a:aw
ERIIEUCIEE 1 ARATT & o vgar fopa o Iher |

A) conductor materials only\ &Had B EINEY garf

B) non-conductor material only\ &adl EaRINED gerf

C) semi-conductors only\ FHad 3

D) both conductor and non-conductor material \ Il 3R FaEINED EEICEH

Q 82) Which of the following is a non conventional machining process?\mﬁ R kaC k| U R gRuRk®
AT uforar g2

A) EDM\ 38109

B) ECM\

C) USM\ gudEH
D) All of these\ DRt

Q 83) In advanced machining processes, what is the full form of ECM?\ 3dd TRt ufsraraft ﬁ, g?ﬁ'@:[ Cal tpf
U T8Il 82

A) Electro Chemical Milling\ Soiae! i THfeT

B) Electro Chemical Melting\ 3@3@ HiFpa AfedT

C) Electro Chemical Machining\ sﬁa%j Pt =i

D) Electro Co-ordinate Machining\ 3@3@ PranfSe g

Q 84) Which of the following is hardest known cutting tool material \FRTIRET & ¥ S 1 I HOR BT
T it g2

A) High carbon steel\ 3= CACR] HId

B) Diamond\ BRI
C) Cemented carbide\ s W’TE_&?

D) Ceramic\
Q 85) Cutting speed is expressed in \wiTEE ®l T e fopdT ST %|

A) meter\HICX

B) minute per meter\ fire gfa wiex
C) meter per minute\ Hiex ufd fie
D) per minute \ ufd fme

Q 86) Which one of the following factor governing feed?\ERIRAT & T 1 T SRS WIS & 4R HRa18?

A) Tool geometry\ SUHRUT STATT



B) Coolant used\ Ygad RIGNED
C) Rigidity of the too\FUHUT B Egal
D) All of these\ T Tt

Q 87) The value of included angle for acme thread is A Q?F?f ﬂ?ﬂ & %I'Q Wlﬁ'g B0 BT A
IS
A) 40°
B) 19°
C)29°
D) 75°

Q 88) Identify the type of thread shown in the figure?\ EEE IR q Eﬁﬁ & UHR Bl UE?TIT?H

Diameter

A) Acme thread UG ﬂ_épf
B) Square thread\ ¥&hTIR ﬁ
C) V thread\ V IS

D) None of these\ ST A DI T8l

Q 89) In a lathe machine, it is possible to turn the eccentric turning with the help of \TH dY 7RI

#_ PI7AeE Y IP T HG U gHa g

A) four jaw chuck\ IR S&S AT 9%

B) lathe carrier\ WRIG BT

C) knurling tool\ feHT IuHRT

D) both four jaw chuck and lathe carrier\®lR SEEEINIERD 3R TRIE IR AT

Q90) is a gradual increase or decrease in the dimension along its length of the job.\ EICE]

TETE & 1Y AT | T e gig a1 HHI S g

A) Taper\ TR
B) Degree\ P

C) Roughness\GRGRTUT
D) None of these \ EREE ﬁ’sﬁ Ta!

Q 91) Which one of the following is a taper turning method ? \efafea g ¥ e TH SR T 1 ) fafer % ?

A) Compound Rest Method HUTSS ¥Xe fafey

B) Tailstock Offset Method \CTREI Thac fafd
C) Form Tool Method\WTH cd fafer

D) All of these\d T

Q92) Whic%h type of taper is turned in tailstock offset method?\ ToReT® 3Thdc fAfY & f5g R 1w o
Wildl g ?

A) External\STgl

B) Internal\ RIRIRED

C) Both external and internal\ STl IR 3ffafkes gl
D) None of these\g_rlﬁ I aﬂé :%)f

Q 93) Which of the following is a type of lathe mandrel?\ Fafafad e aTay ﬁ%ﬁ HITD YHR %?

A) Gang mandrel\ Hp ﬁ%ﬁ

B) Stepped mandrel\ XIS ﬁ%ﬂ
C) Screw mandrel\ ¥

D) All of these\ Tt

Q 94) Which of the following statement is not true about reamer?\ REINITECRAES] I HYT IR S IR H
BEE



A) It is a multipoint cutting tool.\ Ig Tdh Teciuige Hict cd %|

B) It is a single point cutting tool.\ Ug e uige s cd %|

C) Shank and body are the part of a reamer\ RITh 3R are T IR o1 g gid % |
D) All of these\ T T}

Q 95) Which of the following is a soft skill?\ FURIT T q HF T UF Jg S 82

A) Positive attitude\THRIHD VBTN

B) Good communication skill\3{8T TaR DI
C) Self-confidence\TAAY

D) All of these \ T T+

Q 96) How many pillars are there in 5S concept?\ 5S Tpeg | fora T Eﬁ?f % ?

A)3
B)4
Q)5
D)6

Q 97) Identify the tool shown in the figure. \ 31'@—% T MY T USRI DI Ugd™ ﬁ|

S e T
:.|....-.-n-uuiir:-nu!ﬂr’!ﬂ).‘ﬂ’

P S

A) Tip cleaner\ fcU &R
B) File\ Xail
C) Try Square\ T

D) Micrometer\
Q 98) What is the best way of avoiding accident? \ Qﬁaq Y 9 HT FaaH dBT R % ?

A) Observing safety rules related to job, machine and workplace \ Siid, A=fH e B & M J TR Rt
[BREICARISECRG]|

B) Do not use safety equipments \ JX&T JIS-FHH! BT T -_-|?3[ DT

C) Doing work in one s way \ ot srgm ater @ e v

D) All of these \ T Tt

Q 99) Which tool is used to enlarge a previously drilled hole? \ Uj 2| ﬁ';ﬁ g e g & aaﬁ & fou fog e
1 AT 3T ST 32

A) Facing tool \ TRfT [y}
B) Turning tool \ e cd
C) Form tool\ Wi [yl

D) Boring tool \ CliRYl cd

Q 100) Identify the machine shown in the figure. \ fom & <wifd 7w w=fi @) g ﬁ|

a—

A) Milling machine\ fAfeiT ==
B) Drilling machine\ %I%m EERE]
C) Shaper machine\ YR Hq=AA
D) Lathe machine \ 3y 7R

Q 101) Which of the following is a non metal ? \ LN R IR Ub YT %?
A) Aluminium\ TegHIATH



B) Copper\ didl
C) Iron\@IgT

D) Sulphur\Hethy
Q 102) Which of the following is a property of metals? \Fefafea g ¥ eman 'Eﬂﬂ\?rﬁ D Uh 0T 7

A) Metals are conductor of heat\‘iﬂﬂﬁ TS B ATAD BIal &

B) Metals are conductor of electricity\%ﬂ_g'wq ﬁﬂ:ﬂﬁ DI A1AD B &

C) Metals are generally solid at normal temperature\ﬂ'l_g'wq AR TR YA dT9H R 319 gt §
D) All of these\ T T}

Q 103) Which of the following is a ferrous metal? \afafea i a o Uh e YTId 87

A) Cast iron \ gddl qrer

B) Wrought iron \ fUear argr
C) Steel\ WId

D) All of these\ T T

Q 104%) Alloy of copper and zinc is known as A\ TS 3R ST ﬁ%l%ﬂ@ Eal & =UH S
oI @]

A) Brass\ LG
B) Bronze\ T

C) Duralumin\SXGHA
D) Nichrome\ W

Q 105) Aluminium is a \ TgffTH T B

A) Ore\H{IIH

B) non ferrous metal\ 38 YTd
C) non metal\ YT

D) ferrous metal\?ﬁ%’ Td

Q 106) Where does the multi start thread used? \ §§ URH T’;LS:T BT UGN gl far ST 82

A) In fly press\ WTSC Ny

B) In telescope\ eferpa o

C) In thermos flask cap\ I RS T o
D) All of these \ T T4t

Q 107) Feed of a cutting tool is expressed in ANTH Had cd DI IS B T e fobdT Srar %I

A) mm

B) mm per revolution\ oyt fel Traahr
C) minute per meter\ fire gfa fdiiex
D) per minute \ ufd e

Q 108) Cutting speed is expressed in A\ T T &Y T ogad foar S %\

A) meter\HIc

B) minute per meter\ fire ufa diex
C) meter per minute\ e ufd e
D) per minute \ ufd fie

Q 109) Power saw blades are made up of \ e SRT &I R Eﬁ?f %|

A) Mild steel\ Hg ¥UId

B) High speed steel\ 3= ifd ST
C) Copper\ GIEl

D) Aluminium\

Q 110) In insert type tool, what can be the shape of insert?\ $=I¢ <130 ¢d H, SIC BT P o1 81 Th«ll 82

A) Quadrate \FfeR
B) Circular\ TT[ATh R

C) Triangular\ﬁ'li\_rlw
D) All of these\ T Tt



Q 111) Which type of grinder is shown in the figure?\ o O {0 IR o TS e &I g™ TITIT%?
W ey 4 "
SN

gl

A) Bench grinder\ aﬂ ‘/TE@T
B) Hand grind:ar\%'USr DIERES
C) Pedestal grinder\w DIERRS
D) None of these \ E:F}f q aﬂ‘s‘ :1?}[

Q 112) The dial test indicator is used in which of the following work? \ ST T EHR B I AT
forg o 7 fopa S 82

A) To check parallelism of shafts\ TUE! & FHFIARA] B! o d B & g

B) To check concentricity of holes\ EHREIEF R EINIEE G ED ﬁ'l'q

C) To check plane surfaces for flatness and parallelism \ FHIT GhT JHMTARAT & 1%111 qurc ﬂﬂﬁ CARSIE
DAl

D) All of these \ T Tt

Q 113) Identify the instrument shown in the figure. \ o # g=ITd 77T IUHRYT Y tl?ﬂ'leﬂ

A) Dial test indicator\ ST T s'IrE-SObCQ
B) Vernier caliper\aﬁiﬂ
C) Micrometer\ m‘s’ﬁrﬁa

D) Sine bar\ 9Ig IR

Q 114) Which of the following is a type of attachment used on lathe? g i eman Uh UhR BT
SicTHe g forT TanT Ay W b ST 5

A) Millling attachment\fIfRIT 3¢aie

B) Grinding attachment\UT& {1 3eghic

C) Taper turning attachment\ TR f sre=e
D) All of these\ T T}

Q 115) Whg:h gauge is used to check the pitch of a thread?\ s & U &t g A & fo fog ot w1 g
[ERISIGIGH

A) Ring gauge\ FUKI]

B) Plug gauge\ &I LS|

C) Standard wire gauge\ WRUSS arR I
D) Screw pitch gauge\ ¥p s

Q 116)%Which of the following is a part of inside micrometer? \ Fafafaa A HH IR S usaﬂiﬂa DI UDh
fewag?

A) Sleeve\ i

B) Thimble\ fad

C) Both sleeve and thimble \ W19 3R Fverd gt
D) None of these\ 3_"|'Ef I Eﬁ'sc 7‘%)[

Q 117) Identify the instrument shown in the figure. \ \’rf@ﬁf T g T JUBR D tlET‘ﬂeﬂ

A) Plug gauge\ W I



B) Vernier caliper\aﬁtR PR

C) Micrometer\
D) Sine bar\ IIg dR

Q 118) The use of sine bar is based on function.\ YIS IR BT ITINT ST IR 3neyTid %\

A) trigonometric\ﬁﬂ'ﬁwm'q
B) algebraic\\@ﬁﬁmﬁﬁﬁq

C) geometrical\@T&l?ﬂ'q

D) statistical\giRET®H G

Q 119) Which of the following is a power transmission instrument?\ BEINICE R ARl U fad R0l
IJYBRI &7

A) Belt\ St

B) Chain \ T

C) Gear\ R

D) All of these\ T Tt

Q 120) Which one of the following is used to guide the tool and locate the job in mass production? \fFafafea o

! TR 9g-3dTe § Sifd &1 RIF Fufikd A ok ¢ &1 Mge dvA & forg fran sran g «

A) Gauge\ﬁ\_r[

B) Housing\

C) Jig\ formt

D) Fixture\ [EERER

Q 121) Fixture is a production device which N\ TrRTeR Uh Jdicd I« % il|
al |

A) Holds the workpiece.\ CERIRK Thadl ?

B) Locates the workpiece.\ JHURT B Abe Bl %

C) Holds and locates the workpiece.\ CERRK Udb Sdl od dlhe Bl %

D) Neither holds nor locates the workpiece.\ aq gHU BT b Sdl %ﬁ NIEERG] %

Q 122) Which one of the following is a type of jig? \ fFafrfea A d o ma Tdh YhR 7

A) Plate jig\ Wic foRT

B) Channel jig \ ECATAN
C) Box jig\ STaq fomT

D) All of these \ T T4t

Q 123) Identify the instrument shown in the figure. \ GHT% T MY T USRI DI tl%ﬂ'leﬂ

= S

A) Digital outside micrometer\ fsfoed sirage S IITEﬁIﬂET
B) Digital vernier caliper\ f&forea affar HfawR

C) Standard wire gauge\ RUSS IR S

D) Plug gauge\ W ™

Q 124) When tolerance is given on one side of the basic dimension, it is called A\ oS 9@
SHATA R e Ue T1gs R ol 8, A 3@ PEd g

A) Upper deviation \ 3{UX SifaugA

B) Lower deviation\ 3R SifAuRH
C) Unilateral tolerance\ J R ARy
D) Bilateral tolerance \ETE%TEW TNy

Q 125) Which one of the following letter indicates basic hole?\ & & & DI T 3HER T &% & $d FHraT 82

A)E
B)F
0)G



D)H

Q 126) In shaft basis system, the size of is made constant.\ QTHE SATYR FOMIT ff, BT AMHR RR
EEILIRSIGIN

A) hole\ f&5%

B) shaft\ RITHC

C) bearing\ foafar
D) key\ &1

Q 127) Dial indicator is a comparator.\ ST g%ﬁo?? Uh ﬂ?‘lﬁﬁ %|

A) mechanical\diA®H
B) optical\

C) chemical\ RIS
D) electrical\ﬁﬂ’ﬂ?‘ﬂﬁ

Q 128) When statistical techniques are employed to control, improve and maintain the quality or to solve quality

problems, it is called \Glavr@qﬁtraﬁaﬁﬁ 3! A w3, ﬁmﬁaﬁiwwﬁm
ORI 3 GHETSA B 50 B o PR T e, A1ed . el

A) Advanced quality contro\3ad I[0TdT BREL
B) Basic quality control\ §f~dTa} T[Urd =01
C) Statistical quality control\ it Turadr IBREL

D) Quality pack\ T[0Ta<I %
Q 129) What does Q stands for in TQM?\ SYouH & Q J &1 3T 82

A) Quantity\&ifcet
B) Quality\@Tferc
C) Question\??—ﬁ[
D) Quick\ f&&

Q 130) CNC stands for- \ STt § 31fyumg g-

A) Computer numerical control \ Y ?{ﬁﬁw EI?_@FT
B) Centre for number correction \ JUeR B FeR HIaRM

C) Centralized numerical code\ @ET’I'IEE ?Iﬁﬁﬂv_d DS
D) Computer number control \ T &R Eb_gﬁ?f

Q131 W%hich of the following is not an advantage of CNC machines?\FAfRad & T &1 et =iA &1
Y e 82

A) High cost of machine\ARIM & 3= AT

B) Higher production\3= SdlGT

C) High quality production\3= UTd<T bl JdTG
D) All of these\ T Tt

Q 132) CNC machine preparatory codes are also called codes.\ ?ﬁ'@ﬁﬁ TR & fiuve I8 &I
IS Wi BT ST 5|

A)G
B)M
C)C
D) K

Q 133) In CAM, C stands for 2\ @A #, ¢ T 77 31fHuTg 82

A) Contact\@icae
B) Compare\m

C) Computer\ P
D) Coordinate\ HRSMCT

Q 134) Which of the following is a basic structure of CNC lathe?\ ﬁ'ﬁﬁf@ﬁ FA DA m AU DI Ucb Hol
TIEI ]2

A) Bed\&S
B) Turret\ T



C) Control panel\ Eh_gﬁa T
D) All of these\ Tt

Q 135) Identify the tool shown in the figure. \ T H G TT TA PI UG By
A) Try square\ ‘Iﬁ'{ﬂ

B) File\
C) Chisel\ &1t
D) Steel rule\ ¥Id &

Q 136) Which of the following operation can be performed on lathe machine?\ fofafea d 9 DI 1 Y=ITe aY
TR TR 3T S el 82

A) Taper turning\ TR <

B) Drilling \ 3 o
C) Thread cutting\ XS BT
D) All of these\ T Tt

Q 137) Identify the machine shown in the figure. \ o o g2ifd e wefia @t ugam ﬁ|

A) Milling machine\ FfeRT A=fA

B) Drilling machine\ %ﬁm o=

C) Shaper machine\ YR [q=AA

D) CNC lathe machine \ W AY AT



ILevel 1 Answer key

g:.estion Option 1(\?(l:-estion Option 1(\?(l)l.estion Option 1(3(1)1-esti0n Option 1(\Iz(l)l-estion Option
1 B 31 D 61 B 91 D 121 C
2 D 32 C 62 D 92 A 122 D
3 A 33 D 63 B 93 D 123 A
4 C 34 B 64 C 94 B 124 C
5 A 35 B 65 D 95 D 125 D
6 B 36 B 66 C 96 C 126 B
7 A 37 A 67 D 97 C 127 A
8 C 38 A 68 A 98 A 128 C
9 B 39 A 69 C 99 D 129 B
10 B 40 B 70 B 100 D 130 A
11 A 41 B 71 D 101 D 131 A
12 B 42 C 72 B 102 D 132 A
13 B 43 D 73 A 103 D 133 C
14 B 44 A 74 C 104 A 134 D
15 B 45 A 75 D 105 B 135 D
16 A 46 B 76 D 106 D 136 D
17 A 47 C 77 A 107 B 137 D
18 C 48 B 78 C 108 C

19 B 49 D 79 C 109 B

20 D 50 A 80 A 110 D

21 A 51 B 81 A 111 C

22 A 52 B 82 D 112 D

23 D 53 B 83 C 113 A

24 C 54 A 84 B 114 D

25 C 55 D 85 C 115 D

26 B 56 C 86 D 116 C

27 A 57 C 87 C 117 D

28 C 58 A 88 B 118 A

29 C 59 A 89 D 119 D

30 C 60 D 90 A 120 C

Turner Level 2




Q 1) In the figure given below, why is it written Not acceptable ? /i 3 H Sty i foran | 2

A) Clamp has not been properly tightened / IO Bl SuYad W I &1 el T % |
%) Size of clamp is too big for the piece held/maﬁaﬁuﬁm%mmaﬁmm W@E@HW
I

C) Siz%e of clamp is too small for the piece held/ / maﬁaﬁ Uch S X T3U® f%ﬂza%'ﬁqm W@E@H
BTG |
D) This clamp is not meant to hold round piece /a%miﬂaaﬁﬁqﬁ %ﬁmqtﬂ% I

Q 2) Number drills are found from 1 to ............... /TR %FT 9. ISP IR ST B |
A) 60
B) 70
C) 80
D) 90

Q 3) In figure shown below, Which tool has negative rake? /it T3 U SR o fohg ol FUMHD XD BIdl

A) Tool A/ g A
B) Tool B/ ¢ B
C) Tool C/¢d C

D) None/aﬁg:{a

Q 4) Figure shows a tool cutting into workpiece. Where maximum heat is generated? / RIEREIESCE:] cd ghUN
R HTTE BT BN ¢ | Hal SHAHTH ST UG8l g 2

A)AtA/ATR
B)AtB/B™
C)AtC/CW
D) Heat generated equal at A, Band C/ A, B aﬁ?cmwwﬁaaﬁ I

Q 5) Figure below shows three types of chip formation. Name them correctly. / i e H I IR & fau
foymtor feaman T § | 37T Het A1 Sard|

1)

L
..... 70 = =
T e’ r

A B C

A) (A) With built up edge (B) Continuous (C) Discontinuous / A) faee 310 TS (B) FRaR (€) TR-FARR
B) (A) Discontinuous (B) Continuous (C) With built up edge (A) TR-FR@R (B) FRR (C) foee 3T
C) (A) Continuous (B) Discontinuous (C) With built up edge (A) FRER (B) TR-FR@R (€) foee 3w
D) (A) Continuous (B) With built up edge (C) Discontinuous (A) FR@R (B) fiee 31a Tt (€) TR-FARER

Q 6) Name three forms of shoulder turning shown in figure given below. / i o8 T smE H Riicex © EUED



N —
I — D,_):

A) (A) Square shoulder (B) Filleted shoulder (C) Angular shoulder / (A) ¥R TMeeR (B) fhfeeres TR (€)
.[ E

B) (A) Square shoulder (B) Round shoulder (C) Bevel shoulder / (A) TR e (B) IS RIS © Iqd
C) (A) Square shoulder (B) Edge shoulder (C) Inclined shoulder / (A) ThaR TMeeX (B) TS XMTER (C) TFARS

D) (A) Square shoulder (B) Curved shoulder (C) Angular shoulder / (A) WhaR RTeR (B) 9% Vee (C) TR

Q 7) What is NOT true about the part of a lathe shown in figure given below. / i feame 7Y 3E H Te & aré
& IR AR TA TR ?

A) Tt is called chasing dial /@WWW% |

B) It is used in thread cutting / BT TN U8 BT H E-)I?IT % I

C) It helps in adjusting depth of cut / g P C DI TGRS DI TSORE Hal gl

D) It helps operator to know when the split-nut should be engaged / U5 HI¥ER 1 Jg - | Jgrad Hral %
fob STe Taefie e 1 I AT |

Q 8) One of the process chart symbol is shown below. It is symbol of ..... / i T U ¢ et femm m
RITE.. CAGESER

A) Decision / Aol

B) Delay / [EGE

C) Inventory / HTHIT ﬂfﬁ
D) Movement / Tc]

Q 9) What tool is used to mark arcs and circles of great diameter? / T8 T %1 SUANT AT 3R ¥ AN 1Al §d

TR & fau grarg 2
A) Divider / f&a1gex

B) Compass / ¢ HTH
C) Trammel / %IW‘T
D) Caliper /

Q 10) The jaws in this type of wrench open parallel with the help of a screw thus proving suitable for all sizes of
nuts. This wrench is .... / 39 UHR & d T &l & B! TeTddl § GHHNR Gadl & 3R 59 THR 94 95 &
T fomSugaagare 1T fm e

A) Pipe wrench / UIgH &=
B) Monkey wrench / Tl =
C) Allen wrench /Q?‘Ffﬁ?[
D) Socket wrench / SICTATE]

Q 11) The teeth of hacksaw blade are bent as shown below. What is true about it? / T 3T T g &I I
Sid geT g feumI T g | U IR B RN IAA G 2

]




A) It is called setting of saw teeth / 3@ A &H aﬁaﬁ qf Wﬁ% |

B) It prevents saw blade binding when penetrating into the material / ST IR F s AT A yam Hrar g at

TE IS B g1 AP |

%) It makes the cut broader than the thickness of saw blade / Ig M & A Bl Ih?l_ic BT U TG He Bl
I

D) All of the above are true /B'qﬁa\_'f Tt ® |

Q 12) Which type of chisel is used for cutting keyways and slots? / fT UPR & B BT ST D1 3R Wie

TR & e grare 2

A) Flat chisel / JUTE &1

B) Cross-cut chisel / P He ST

C) Half round chisel / 3] e ST
D) Round nose chisel / I3S BIEERI]

Q 13) A wedge like tool used to remove a taper shank drill from the nose of machine spindle is called ..... / ol

OR ol A A Tl d o Al 9 R e (el 1 g & AU WA 81T 8 | 59 Ped §

A) Key / Gl

B) Cotter / Pl
C) Lever / KICH
D) Drift / g%

Q 14) A place for everything and everything in its place. Among 5S , this is indicated by / gt el & fow =M
IRTT GO T RM AR | 55 H I8 TAAT T g

A) Sort / BieATl
B) Set in order / hH o oI
C) Shine / TH®TT

D) Standardize / ATF®HIGHd HIAT
Q 15) What is basic principle of EDM? /g@@ﬁﬂﬁ Rigiaang ?

A) Tool is made cathode / gCT FNESHFTIN AR |

B) Workpiece is made anode / THUg Q'_‘ﬁg CAKCKI EPR‘IT % |

C) Plasma is created due to high voltage between tool and workpiece / gC1 IR IHUNY & ol 3= deesl &
BRI @IH F7d1 7 |

D) All of above /B'q{}iaﬂ it

Q 16) What will you use to remove a person who has come in contact with live wire? / Iofld R & e o 3Y

SHfeRT D1 FSM o 7T MY T YT B 2

A) A piece of metal pipe / UTJ P URY BT ghsl
B) A piece of dry wood / {[@ F’Iﬁ Pl gh sl
C) A scaffold pole / HTT BT S8l

D) A piece of wet wood / e F‘Iﬁ hIgh sl

Q 17) What does horseplay mean in the context of safety rules? / JR&T anl & Yo o s wrm srf g 2

A) Throwing hay / 9T Tl

B) A game of horses /'EhS-T ARG

C) Fooling around / IHR IO fordr=
D) For animals / tl'ﬂ\?h & ﬁ“l'q

Q 18) A drive shaft on a lathe with adjustable gears primarily for cutting of threads is / ﬂ@ Pl & forg
iR & 1Y g TR SI8aR XU BIdT §

A) Feed rod / B8RS

B) Lead screw / TS h

C) Cross slide /W\JNWT{S

D) Compound slide / U S WgS

% 19) Cobalt is added to H.S.S. to increase ........... /DA HITETITIH . ... EHECANMENIRIRSIGI
|

A) Ductility / d=IdT



B) Wear resistance / foraraexieh
C) Hot hardness / d&l BHER
D) Fatigue strength / T¢I @f‘q

Q 20) The cutting speed is minimum while machining ........................ with a high speed steel tool. /SId .. ... ...

.. DI I A P T ¢ & Ty TR IR § d Fers fd AT S g |

A) Aluminium / AGIH
B) Steel / 1A

C) Brass / didl
D) Cast iron / e¢1dl GIE]

Q 21) Which thread has a combined strength of square thread and V thread? / DT IS HWHR IS ARV IS
B YT AT B § 2

A) Knuckle thread / T d DK

B) Buttress thread / ERGEPE]

C) Acme thread / Qaaﬂ IS

D) British Standard Whitworth thread / foife=T wes fagad g

Q 22) With CNC turning machines and preparatory codes, what does “G01” represent? / Tt T4 It effr m=fi=
3R FIREY BIS & F1Y BT “G01” T FHKI BRI G 2

A) A code that allows the tool to dwell at a location / d8 AR ed & ABIH A AT § |

B) It instructs the control to move rapidly to specific X and Z locations / I8 fafry x 3R Z AHTF! B doit §
AT & fore Frfd w3 8 SrRm T |

C) It is a linear interpolation of feed rate code / g BIg ¥ HIS BT IWP 3qaT @ |

D) It directs the machine control to use workpiece coordinate values stored in memory / g TR A Heiia

fFE=Tie 7 1 T 3 & g 72 Seia o Femraars |

Q 23) Which of the following CNC codes relates to “spindle on” counter-clockwise at constant surface speed? /

9 o o a1 it w7 A wrs Fud Whg nfa R Risd [ SR Fdipdss d Yl gidrg 2

A) N020 T0101
B) N030 G50 X8.500 Z7.500 S 3000
C) N040 M04 S500 G96

D) N200 M05

Q 24) How are CNC “G” codes grouped? / It uq T ot prs BT HY a’f@v_d [E2IRSIGI % ?

A) According to their bit size / I fae aga & SR

B) According to their function / ISP B & SR

C) Based on their sequence / IS Hog & SR

D) Based on the number of significant digits /W%ﬁrf T IR YR BT S |

Q 25) When referring to CNC programming, which of these is the command code to move the tool in the counter-

clockwise direction?/W?ﬂ@?ﬁmﬁwwaammmﬁmﬂﬁaﬁm
Fllpargst o= H gHM & o B § 2

A) GO1 /Sit01
B) G02 / Si102
C) G03 /H03
D) G17 /3017

Q 26) Which of the following CNC codes cancels the mirror image coordinates for double turret turning centres? /

7o & &1 11 1 T Pls Saat gXe T AR & AT iR 309 $13{TS7ed 31 8 HRdl 6 2

A) G94 / ST194
B) G76 /31176
C) G72 /3172
D) G69 / 5169

Q 27) After heating upto required hardening temperature, why must tool steels be quenched? / 3uférd 3 ST
AT A TH B & 916 ¢ K Id I FI ST BT AT 2

A) To induce internal stresses / 3ffalke d1d &1 ART P B 1%112
B) To build up hardening structure / PSR AT g & fag
C) To return to its original structutre / W Hdl TR 919 31 & 1%111



D) To let scale fall off / ¥hd WId H & fad
Q 28) What is the principle of total quality management? / $a 0TIl USIe bl JGId g 2

A) Continuous process improvement / Jdd PR3] JUrR

B) Continuous productivity improvement / Hdd JdTah dl JUR
C) Continuous value enhancement / Jdd HIT q@

D) Continuous defect elimination / ddd qy ST

Q 29) The most frequently used framework for obtaining continuous improvement is / Fdd YR YT FAD
foe ura vy ThHad Bidl §

A) Plan - Do - Check - Act / TSI TR &1 &A1, ST 63T
B) Quality function deployment / J[OTd<T B AT
afdba

C) Quality Circle / 0TIl
D) Cause and Effect Process / PIRUI 3R U TR

Q 30) The diagram given below is called ............... I CACTRIC RS I k-2 P Fed g |

|| Maskisary

A) Control chart / IBRENEEIG

B) Flow diagram / TR STTH

C) Fishbone diagram / firraH Su™
D) Activity diagram / Ufdeadt s

Q 31) What principle is used to measure distance in electronic comparator? / sﬁ?ﬁjﬁw PR A g_\ﬁ IR R
& o 1 o1 R T 1 & 2

A) Frequency modulation / HiH- | 5(3’@ |
B) Radio oscillations / et g

C) Both of above /aT

D) None of above / T 9 IS el

Q 32) The cutting speed for turning an aluminium piece on lathe using H.S.S. Should be / T TH TH &I TR

P gU e W AAYTH & g Bl 1T B & forg s ify g =nfey

A) 70 - 100 m / min / 70 - 100 HY/ fe
B) 50 - 80 m / min 50 - 80 HY/ e
C)35-70m/min/35 - 70 H/ fie
D) 25 - 40 m / min / 25 - 40 HY/ fiFe

Q 33) Figure below shows an accessory used on production type lathe. It is called / i o o drea=M IR
TG TR TIF B T Ve ! feraran g | zﬁwﬁ%
50 Ta

A) Indexing tool holder / g cd IRy
B) Multiple tool holder / HeEUd Td BIcER

C) Turret / 3T

D) Indexing block / ESIESHESICY



Q 34) Figure below shows three types of centres. Name them from top to bottom. / I 3E H dF UPR &
Hex fe@me MU § | IR 9 2 g7 19 Fan|

A) Revolving centre; Normal centre; Pipe centre / Rarfed == ; AT R e IR
B) Tipped centre; Revolving centre; Ball centre / fems IR ; Rarfed == ; T e
C) Tipped centre; Pipe centre; Revolving Centre / feos Ix ; a1y IR ; Rarfed IR
D) Ball centre; Pipe centre; Revolving centre / IR ; gy W; RarfedT =<3

Q 35) Figur%e below shows set up of sine bar. What is G here? /9= mﬁwaﬁﬁﬂw a@”é TI_QF% |
eI GRT B ?

A) Stopper / WR

B) Slip gauges /R
C) Sine bar / 911 dR
D) Job / Sid

Q 36) What is the function of drop arm provided in the apron of the centre lathe? / Yrex oG o Uy | fear
S AH HT B FR 2

A) To engage / disengage power feed / UTdX IS o TH/RITd BT

B) To change direction of rotation of workpiece / JHUE & Q:Uh P fe=I dga
C) To change direction of feed / Bie P fa= dae

D) To engage / disengage lead screw / LIS h DI /SR HAT

Q 37) Which of the following is a part of a file?\ RIS & F B ¥t &1 U e 82
A) Heel\ 81@

B) Tang\ GGl
C) Edge\ T
D) All of these \ T Tt

Q 38) The angle of the point is in a centre punch. \HE Ug ﬁ, ﬁ'g’ BT BT grar %|

A) 30°
B) 60°
C) 90°
D) 120°

Q 39) Which of the following is a part of vernier caliper?\ fafafed & 9 o1 affR SR &1 s g %‘?

A) Main scale\ Whel

B) Vernier scale \af R W

C) Movable jaw\ IATTHI ST ST
D) All of these \ & T4t

Q 40) How the sine bar is specified? \H1g dR CRAE é@ [ERIRSIG] %‘?

A) From its top surface \ TP HURI qdg |
B) From distance between the centers of the roller \ TR & Hesl b &I Bl @ 9
C) From the weight of sine bar \\TgT dR FURY

D) None of these \STH A BIg ol



Q 41) What can be the value of a back rack angle?\ TP ISP PV BT HH T 81 Tobal 82

A) Zero\ }[H

B) Negative\F5UTHD
C) Positive\YITHD
D) All of these\ T T

Q 42) Which angle of the cutting tool controls the geometry of the chips formation?\ BT e Dl DI T B
fored & &7 3 fobar 1 i et o2

A) Rake angle \XS DI
B) Clearance angle \ TG HIUT
C) Point angle \ UIgC P07

D) None of these \ 37{3[ T ﬁ"i‘ 7‘|§[

Q 43) Which one of the following tool angle avoids rubbing the body of the tool with the workpiece? \ Fafafea
TABUH Y DI T BV, A DI SISl B gHUT & 1Y IS | FaTd 82

A) Rake angle \ P BIT

B) Helix angle \ gfcrag ®ior

C) Clearance angle \ TG HIUT
D) Point angle \UTE.? HI0T

Q 44) Which of the following is a basic quality that any cutting tool material should possess? \ BEINIECCRAE]
DI T U J 70T 8 S folt ot el SueRur ) el & O g ARy

A) Cold hardness\ PIcS gle

B) Red hardness\ IS m

C) Both cold hardness and red hardness\® IS Eﬂéﬁﬂ IRIS B'lé%lq gl
D) None of these\ 3_'{3[ q ﬁé qﬁ

Q 45) What type of threads are there in a screw jack?\¥p S H P UeR & EL%'QT gt %?
A) Acme threads\UFH q%m

B) Square threads\ ¥hTIR E,[%'CIT

C) V threads\ V g 3 g
D) None of these\ B ﬁ'sn ol

Q 46) What type of threads are there in a lead screw of lathe machine?\Y ARIH & oS h T fohd UHR B
?

A) Acme threads\UeH (ST
B) V threads\ V (ST

C) Buttress thread\ ¢y EL%TIT

D) None of these\ 379}[ I ﬁé :lg)[
Q 47) Where can be an eccentric turned job is used?\ U Ih < oS Sig Bl W’m forar o gt %?

A) In power press\ R UG d

B) In power break\ iR s |

C) In guillotine machine\ frafeT aefia &
D) All of these\ T Tt

Q 48) Which of the following standard taper is mostly used in die sinking machines?\ fofofea d 9 Eackll
HMP TR SUTGIR ST RITHT A==T # U fasan Sirar g2

A) Morse taper\ IR TR
B) Metric taper\ mHifed TR
C) Jarno taper\ TR

D) None of these\ g:rﬁ[ I ﬁ%‘ 7‘|'E>pf
Q 49) Which of the following is an Indian standard ? \Fofafea a9 D Uh YR A %‘?

A) BIS
B) DIN
C) I1S
D) AISI



Q 50) What is the main purpose of Annealing? \ QI &1 qJ7 B%QQ T %?

A) To improve machinability\ TR argar o YR pRAT
B) To improve magnetism\ b cd L} FUR HRAT

C) To increase plasticity\ RIS EEE

D) To increase hardness\ FHERAT dell

Q 51) Which heat treatment is done on steel to increase its cutting ability?\ Hi & EIE'I%[ ¥ fou A R BH
T 3T SR faT STl 22

A) Annealing\ Q:ﬂﬁl'rl

B) Hardening\ i

C) Tempering \eufiar

D) Normalizing\:l'lﬂﬁ'lgﬁi'r[

Q 52) Which metal is obtained from hematite ore? \ %ﬁ?@? 3D QA H I YT U CARSIGI %?

A) Copper\ didl
B) Aluminium\ TegHI-Yg
Q) Tron\@T&T

D) Zinc\ST¥dT

Q 53) Which of the following shows correct relationship between lead and pitch? \affa A s ards
3R e & <ita 9 ey axian g2

A) Lead= Pitch+Number of starts\@iT8 = U9 + TRY & T=AT
B) Lead= Pitch-Number of starts\ e = U URY &1 e
C) Lead= PitchxNumber of starts\ TS = fUax TRY &t I=1
D) Lead= Pitch/Number of starts\ e = fUa/mRY &t S

Q 54) Where does the milling attachment fitted on lathe machine? \ QY 7= R AfeT sreavic o) Sl T
STl 52

A) On tailstock\ TS W)
B) On cross-slide\ $h19- WW
C) On headstock\

D) None of these\ THY aﬁ‘s‘ Tl

Q 55) Which of the following gauge is used to measure the external diameter of a shaft? \RITHC & ST AT &

A & for FRafafea 7 3 feog s o1y fear Sar g2

A) Plug gauge\ W I

B) Ring gauge\ EUKIES]

C) Standard wire gauge\ RUSS IR S
D) Feeler gauge\ BIaR 7o

Q 56) Identlfy the type of belt drive shown in the figure. \ ICEE ERIDRIC glkd P UHR &I QE?ﬂeﬂ

A) Open belt drive \3fI79 dee gled
B) Cross belt drive \Sh ¥ Sec S18d
C) V belt drive \ V de€ 3184

D) None of these \ s:lff | ﬁ's‘ '_‘@:f

Q 57) Which of the following dimensions can be measured by dial caliper?\ frafaRea o 9 ford S &1 sad
FHAUR G AT S el &2

A) Outside diameter\ STgl ATH

B) Inside diameter\ SRS T

C) Both outside and inside diameter\ STgl 3R 3ffalke =g gt
D) None of these \ 37{1}[ I aﬂé :1?‘[



Q 58) Which of the following is a main part of capstan lathe?\ fofafed o 9 o9 Foed Ay HT1IH qJo o=
&

A) Headstock\ §SXCI®
B) Tool post\ gcT e
C) Feed rod \ i R
D) All of these\ T T4t

Q 59) Which of the following is an anti-friction bearing? \ g B 2 o auuRIdh: faafi |2

A) Solid bearing \gifers foafe
B) Thrust bearing \ % faaf
C) Ball bearing \ STd faafar

D) None of these \ T 9 B el

Q 60) \%/hich one of the following is the command for coolant off?\ fFaffa Ay o W 3 & forg
FHHIS &2

A) M0O
B) M05
C) M07
D) M09

Q 61) If the cutting speed is V m./minute and tool life is t minutes then what will the relationship between tool life
and cutting speed? (where n and C are constant ) \ ?T% HaA T v 1 fAe 3R cadigh t forega cd
TEH 3R HolA 71 & s o1 =l R 2 (18T n 3R ¢ Fgdies §)

A) V=ntC
B) Vn=tC
C) Vtn=C

D) None of these\ STH A DI ol



ILevel 2 Answer key

Question No. | Option Question No. | Option Question No. | Option
1 D 31 C 61 C
2 C 32 A
3 B 33 C
4 A 34 D
5 C 35 B
6 A 36 A
7 C 37 D
8 B 38 C
9 C 39 D
10 B 40 B
11 D 41 D
12 B 42 A
13 D 43 C
14 B 44 C
15 D 45 B
16 B 46 A
17 C 47 D
18 B 48 C
19 C 49 A
20 D 50 A
21 C 51 B
22 C 52 C
23 C 53 C
24 B 54 B
25 C 55 B
26 D 56 B
27 B 57 C
28 A 58 D
29 A 59 C
30 C 60 D




